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L—ZNo.| SEfERs %I = i
1 10:00 BF14t 4
2 10:03 BF14t 4
3 1006 | BFREFLELIANLIL | 2
4 10:09 BFHEFOEILT 5
5 10:12 BFHEFOEILT 5
6 10:15 BFHEFOEILT 5
7 10:18 BFET WA 4
8 10:21 BFI7T AN 3
9 10:24 BFIT RN 4
10 10:27 | ZFREFOEHNLTL | 4
11 10:30 BREFELLAT 4
12 10:33 BREFELLAT 3
13 10:36 ZFL7T AN 4
14 10:39 ZFL7T AN 3
15 10:46 YA4-R'14} 3
16 10:51 BFIVIT AN 6
17 10:56 BFIVIT AN 6
18 11:01 BFIVI AN 6
19 11:06 BFIVI AN 6
20 11:11 ZFYIT WAL 5
21 11:16 ZFYTNADIL 5
22 11:21 ZFYTNADL 5
23 11:26 ZFIUTNARL 4
24 11:31 YARE=R YUY N AKN 4
25 11:36 YAZ=R YUY N ABN 5
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26 14:00 BF14t 4
27 14:03 BFI4}t 4
28 1406 | BFREFLELIANLIL | 2
29 14:09 BFHEFOEILT 5
30 14:12 BFHEFOEILT 5
31 14:15 BFHEFOEILT 5
32 14:18 BFI7 AN 3
33 14:21 BFI7NANN 4
34 | 14:24 BFIT RN 4
35 14:27 | TFREFOEHNLTL | 4
36 14:30 BREELRLAT 3
37 14:33 BREFELRLAT 4
38 14:36 ZFLT AN 3
39 14:39 ZFLT AN 4
40 14:46 YA4-R'14} 3
41 14:51 BFIUIT AN 6
42 14:56 BFUUYLADNL 6
43 15:01 BFIVIT AN 6
44 | 15:06 BRIV LADN 6
45 15:11 ZFYITWADIL 5
46 15:16 ZFIUT VAR 5
47 15:21 ZFYTNADIL 5
48 15:26 ZFIUTNANL 4
49 15:31 YARG=R YUY N AKN 4
50 15:36 YARZ=R YUY N AKN 5
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L—ZNo.| SEfERs %I = fiit %4
64 11:44 YARG=R YUY N AKN 5
65 | 11:52 YA4-R'14} 3
66 | 12:00 ZFIUTNANL 5
67 12:08 BFYUT AN 6
68 | 12:16 BREFELRLAT 5
69 12:24 ZFLT AN 5
70 12:32 BFI7 AN 6
71 1240 | BFREFLELIANLIL | 2
72 12:48 BFREFOEILT 5
73 12:56 | ZFREFDOEIANLTN | 4
74 | 13:.04 BF14t 5
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L—ZNo.| SEfERs %I = i
51 10:00 ZFYT WAL 5
52 10:08 ZFIUT VAR 5
53 10:16 ZFIUTNABL 5
54 | 10:24 BFYUI AN 6
55 10:32 BFIVI AN 6
56 10:40 BFIUT AN 6
57 10:48 BREFELHLAT 2
58 10:48 ZFL7T AN 2
59 10:56 BFI7NANN 6
60 11:04 BFHEFOEILT 5
61 11:12 BFHEFOEILT 5
62 11:20 BF14t 3
63 11:28 YARE=R YUY N AKN 4




